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Učb. str. 91 

4B 

2 We don’t know. 3 Yes, he will.  4 We don’t know.  5 No, he won’t. 

6 We don’t know.  7 No, he won’t. 

 

Učb. str. 92 

1B 

2 Does he get much exercise? - No, he doesn’t. 

3 Are there many cars in Athens? - Yes, there are. 

4 Does Taylor go to many ice hockey matches? - Yes, he does. 

5 Does he eat many vegetables? - No, he doesn’t. 

6 Does Harriet eat much fruit? - Yes, she does. 

7 Have her parents got much money? - No, they haven’t. 

3 

1 much 2 many 3 much 4 much 5 many 6 many 7 much 8 many 

2 

DZ str. 62 

1 

1 fast food. 

2 ’s crazy about computers. She reads a lot of computer magazines. 

3 ’s very healthy. She eats a lot of fruit and vegetables. 

4 ’s very popular at school. He’s got a lot of friends. 

 

2 

2 Emma doesn’t get much exercise. 

3 Helen doesn’t eat many beefburgers. 

4 Jack doesn’t have many problems. / Jack hasn’t got many problems. 

5 Mark doesn’t spend much time watching television. 

6 Luka doesn’t do much sport. 

 

3 

2 much; Yes, I do. / No, I don’t. 

3 many; Yes, I have. / No, I haven’t. 

4 much; Yes. I do. / No, I don’t. 

5 many; Yes, there are. / No, there aren’t. 

6 much; Yes, there is. / No, there isn’t. 


